Unit Conversions Worksheet

Set-up:    UNKNOWN AMOUNT = INITIAL AMOUNT X CONVERSION FACTOR




       U=I x C

Examples:

a) What is the cost of 2 doz eggs if eggs are $1.44/doz?

Unknown amount = cost of eggs

Initial amount = 2 doz

Conversion factor = $1.44/doz


# of dollars = 2 doz x  $1.44 = $2.88




            1 doz 

b) Cork has a density of 0.35 g/mL.  What is the volume of 20 g of cork?

Unknown amount = volume of cork 

Initial amount = 20 g

Conversion factor = 0.35 g/mL


Vol. of cork = 20 g x   1 mL   =  57.1 mL





0.35 g  

1. If there are 6.02 x 1023 atoms in 1 mol of atoms, how many atoms are there in 5.5 mol of atoms?

2. If one mole of a gas has a volume of 22.4 L, how many moles are there in 25.0 L of gas?

3. If one mole of nitrogen has a mass of 28 g, how many moles of nitrogen gas are in 7.0 g of nitrogen gas?

4. How many seconds must an electrical current of 35 coulombs/s flow in order to deliver 200.0 coulombs?

5. A quiet sound exerts a pressure of 4 x 10-8 kPa (“kPa”= kilopascals, an SI pressure unit).  What is this pressure in atmospheres if 1 atmosphere is 101.3 kPa?

6. A large nugget of naturally occurring silver metal has a mass of 3.20 x 104 troy ounces.  What is the mass in kilograms if 1 troy ounce is equivalent to 0.0311 kg?

7. A reaction is essentially complete in 5.0 x 10-4 s.  If one millisecond (1 ms) equals 10-3 s, how many milliseconds does the reaction take?

8. If 1 mol of octane produces 5450 kJ of heat when burned, how many moles of octane must be burned to produce 15 100 kJ of heat?

9. Our fingers can detect a movement of 0.05 micron.  If 1 micron is 10-3 mm, what is this movement expressed in millimeters (mm)?

10. If concentrated hydrochloric acid has a concentration of 11.7 mol/L, what volume of hydrochloric acid is required in order to have 0.0358 mol of hydrochloric acid?

